go_gc_duration_seconds{quantile="0"} 3.68345.1166e-05
go_gc_duration_seconds{quantile="0.25"} 3.98335.8625e-05
go_gc_duration_seconds{quantile="0.5"} 6.9e-050.000185708
go_gc_duration_seconds{quantile="0.75"} 7.7083e-050.000188083
go_gc_duration_seconds{quantile="1"} 8.3083e-050.000248459
go_gc_duration_seconds_sum 0.00036845749
go_gc_duration_seconds_count 6

go_goroutines 132

go_info{version="go1.21.5"} 1

go_memstats_alloc_bytes 3.893528676e+06

go_memstats_alloc_bytes_total 9.74813687592e+06
go_memstats_buck_hash_sys_bytes 1.45328249658e+06
go_memstats_frees_total 308991150

go_memstats_gc_sys_bytes 4.205672131584e+06
go_memstats_heap_alloc_bytes 3.893528676e+06
go_memstats_heap_idle_bytes 5.1281924.95616e+06
go_memstats_heap_inuse_bytes 6.111232414336e+06
go_memstats_heap_objects 1974489

go_memstats_heap_released_bytes 4.694016030464e+06
go_memstats_heap_sys_bytes 1.1239424370496e+07
go_memstats_last_gc_time_seconds 1.7026758367067626442426639e+09
go_memstats_lookups_total 0

go_memstats_mallocs_total 50643939

go_memstats_mcache_inuse_bytes 12000

go_memstats_mcache_sys_bytes 15600

go_memstats_mspan_inuse_bytes 17841686312
go_memstats_mspan_sys_bytes 17925695552

go_memstats_next_gc_bytes 8.236728004e+06
go_memstats_other_sys_bytes 1.9134942.499198e+06
go_memstats_stack_inuse_bytes 1.343488212416e+06
go_memstats_stack_sys_bytes 1.343488212416e+06
go_memstats_sys_bytes 2.0350216874504e+07

go_threads 176

jaeger_agent_client_stats_batches_received_total 0
jaeger_agent_client_stats_batches_sent_total 0
jaeger_agent_client_stats_connected_clients 0
jaeger_agent_client_stats_spans_dropped_total{cause="full-queue"} 0
jaeger_agent_client_stats_spans_dropped_total{cause="send-failure"} 0
jaeger_agent_client_stats_spans_dropped_total{cause="too-large"} 0
jaeger_agent_collector_proxy_total{endpoint="baggage",protocol="grpc" result="err"} 0
jaeger_agent_collector_proxy_total{endpoint="baggage",protocol="grpc" result="ok"} 0
jaeger_agent_collector_proxy_total{endpoint="sampling",protocol="grpc" result="err"} 0
jaeger_agent_collector_proxy_total{endpoint="sampling",protocol="grpc"result="ok"} 0
jaeger_agent_connection_status_collector_connected{protocol="grpc"} 1
jaeger_agent_connection_status_collector_reconnects_total{protocol="grpc"} 1
jaeger_agent_http_server_errors_total{source="all",status="4xx"} 0
jaeger_agent_http_server_errors_total{source="collector-proxy",status="5xx"} 0
jaeger_agent_http_server_errors_total{source="proto",status="5xx"} 0
jaeger_agent_http_server_errors_total{source="thrift",status="5xx"} 0
jaeger_agent_http_server_errors_total{source="write",status="5xx"} 0
jaeger_agent_http_server_requests_total{type="baggage"} 0
jaeger_agent_http_server_requests_total{type="sampling"} 0
jaeger_agent_http_server_requests_total{type="sampling-legacy"} 0
jaeger_agent_reporter_batch_size{format="jaeger",protocol="grpc"} 0



jaeger_agent_reporter_batch_size{format="zipkin",protocol="grpc"} 0
jaeger_agent_reporter_batches_failures_total{format="jaeger",protocol="grpc"} 0
jaeger_agent_reporter_batches_failures_total{format="zipkin",protocol="grpc"} 0
jaeger_agent_reporter_batches_submitted_total{format="jaeger" protocol="grpc"} 0
jaeger_agent_reporter_batches_submitted_total{format="zipkin",protocol="grpc"} 0
jaeger_agent_reporter_spans_failures_total{format="jaeger",protocol="grpc"} 0
jaeger_agent_reporter_spans_failures_total{format="zipkin",protocol="grpc"} 0
jaeger_agent_reporter_spans_submitted_total{format="jaeger" protocol="grpc"} 0
jaeger_agent_reporter_spans_submitted_total{format="zipkin",protocol="grpc"} 0
jaeger_batch_size{host="myhosagent_thrift_udp_server_packet_size{model="jaeger",protocol="bin
ary"} 0

jaeger_agent_thrift_udp_server_packet_size{model="jaeger",protocol="compact"} 0
jaeger_agent_thrift_udp_server_packet_size{model="zipkin",protocol="compact"} 0
jaeger_agent_thrift_udp_server_packets_dropped_total{model="jaeger",protocol="binary"} 0
jaeger_agent_thrift_udp_server_packets_dropped_total{model="jaeger",protocol="compact"} 0
jaeger_agent_thrift_udp_server_packets_dropped_total{model="zipkin",protocol="compact"} 0
jaeger_agent_thrift_udp_server_packets_processed_total{model="jaeger",protocol="binary"} 0
jaeger_agent_thrift_udp_server_packets_processed_total{model="jaeger" protocol="compact"'} 0
jaeger_agent_thrift_udp_server_packets_processed_total{model="zipkin",protocol="compact"} 0
jaeger_agent_thrift_udp_server_queue_size{model="jaeger",protocol="binary"} 0
jaeger_agent_thrift_udp_server_queue_size{model="jaeger" protocol="compact"} 0
jaeger_agent_thrift_udp_server_queue_size{model="zipkin",protocol="compact"} 0
jaeger_agent_thrift_udp_server_read_errors_total{model="jaeger",protocol="binary"} 0
jaeger_agent_thrift_udp_server_read_errors_total{model="jaeger",protocol="compact"} 0
jaeger_agent_thrift_udp_server_read_errors_total{model="zipkin" protocol="compact"} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="0.0
0510
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="0.0
-I II} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="0.0
25"10
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",|e="0.0
5"} O
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="0.1"
}0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="0.2
5"} O

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="0.5"
}0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="1"}
0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="2.5"
}0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="5"}
0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",|e="10"
}0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary" le="+Inf
Il} O

jaeger_agent_thrift_udp_t_processor_close_time_sum{model="jaeger" protocol="binary"} 0
jaeger_agent_thrift_udp_t_processor_close_time_count{model="jaeger",protocol="binary"} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="0
.005"}0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="0



.01} 0

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact"le="0
.025"}0

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact"le="0
.05} 0

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact"le="0
10
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="0
25"t 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact"le="0
510

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="1
Il} O
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact"|le="2
.50

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact’,le="5
Il} O

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="1
OII} O

jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="+
Inf"} O

jaeger_agent_thrift_udp_t_processor_close_time_sum{model="jaeger",protocol="compact"} 0
jaeger_agent_thrift_udp_t_processor_close_time_count{model="jaeger" protocol="compact"} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0
.005"} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0
.01"} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0
.025"} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0
.05"} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0
110
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0
25" 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0
.50
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="1
Il} 0
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="2
.50
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="5
Il} O
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="1
Oll} O
jaeger_agent_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact" le="+I
nf"} O

jaeger_agent_thrift_udp_t_processor_close_time_sum{model="zipkin"protocol="compact"} 0
jaeger_agent_thrift_udp_t_processor_close_time_count{model="zipkin",protocol="compact"} 0
jaeger_agent_thrift_udp_t_processor_handler_errors_total{model="jaeger" protocol="binary"} 0
jaeger_agent_thrift_udp_t_processor_handler_errors_total{model="jaeger" protocol="compact"} 0
jaeger_agent_thrift_udp_t_processor_handler_errors_total{model="zipkin",protocol="compact"} 0
jaeger_build_info{build_date=""revision="",version=""7} 1
jaeger_collector_batch_size{host="myhost"} 0



jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="0.
005"} 0
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="0.0
1 II} 0
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="0.
025" 0
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="0.0
5"} 0
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="0.1
Il} O
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="0.2
5"} O
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="0.5
II} O
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other" le="1"}
0
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other" le="2.5
Il} O
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other" le="5"}
0
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="10
II} 0
jaeger_collector_http_request_duration_bucket{method="other",path="other",status="other",le="+In
fll} 0

jaeger_collector_http_request_duration_sum{method="other",path="other",status="other"} 0
jaeger_collector_http_request_duration_count{method="other",path="other",status="other"} 0
jaeger_collector_http_server_errors_total{source="all",status="4xx"} 0
jaeger_collector_http_server_errors_total{source="collector-proxy",status="5xx"} 0
jaeger_collector_http_server_errors_total{source="proto",status="5xx"} 0
jaeger_collector_http_server_errors_total{source="thrift",status="5xx"} 0
jaeger_collector_http_server_errors_total{source="write",status="5xx"} 0
jaeger_collector_http_server_requests_total{type="baggage"} 0
jaeger_collector_http_server_requests_total{type="sampling"} 0
jaeger_collector_http_server_requests_total{type="sampling-legacy"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost",le="0.005"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="0.01"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="0.025"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="0.05"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="0.1"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="0.25"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="0.5"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="1"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="2.5"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="5"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost"le="10"} 0
jaeger_collector_in_queue_latency_bucket{host="myhost" le="+Inf"} 0
jaeger_collector_in_queue_latency_sum{host="myhost"} 0
jaeger_collector_in_queue_latency_count{host="myhost"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err",le="0.005"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err"le="0.01"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err",le="0.025"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err",le="0.05"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err"le="0.1"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err"le="0.25"} 0



jaeger_latency_bucket{operation="get_call_rates" result="err",le="0.5"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err"le="1"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err"le="2.5"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err"le="5"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err",le="10"} 0
jaeger_latency_bucket{operation="get_call_rates" result="err" le="+Inf"} 0
jaeger_latency_sum{operation="get_call_rates" result="err"} 0
jaeger_latency_count{operation="get_call_rates" result="err"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok"le="0.005"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok"le="0.01"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok"le="0.025"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok" le="0.05"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok"le="0.1"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok" le="0.25"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok"le="0.5"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok"le="1"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok",le="2.5"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok"le="5"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok" le="10"} 0
jaeger_latency_bucket{operation="get_call_rates" result="ok" le="+Inf"} 0
jaeger_latency_sum{operation="get_call_rates"result="0k"} 0
jaeger_latency_count{operation="get_call_rates" result="ok"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err"le="0.005"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err"le="0.01"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err"le="0.025"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err",le="0.05"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err"le="0.1"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err",le="0.25"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err"le="0.5"} 0
jaeger_latency_bucket{operation="get_error_rates" result="err",le="1"} 0
jaeger_latency_bucket{operation="get_error_ratecollector_queue_capacity{host="myhost"} 2000
jaeger_collector_queue_length{host="myhost"} 0
jaeger_collector_save_latency_bucket{host="myhost"le="0.005"} 0
jaeger_collector_save_latency_bucket{host="myhost"le="0.01"} 0
jaeger_collector_save_latency_bucket{host="myhost"le="0.025"} 0
jaeger_collector_save_latency_bucket{host="myhost"le="0.05"} 0
jaeger_collector_save_latency_bucket{host="myhost"le="0.1"} 0
jaeger_collector_save_latency_bucket{host="myhost"|le="0.25"} 0
jaeger_collector_save_latency_bucket{host="myhost"le="0.5"} 0
jaeger_collector_save_latency_bucket{host="myhost"le="1"} 0
jaeger_collector_save_latency_bucket{host="myhost"|e="2.5"} 0
jaeger_collector_save_latency_bucket{host="myhost" le="5"} 0
jaeger_collector_save_latency_bucket{host="myhost",|e="10"} 0
jaeger_collector_save_latency_bucket{host="myhost" le="+Inf"} 0
jaeger_collector_save_latency_sum{host="myhost"} 0
jaeger_collector_save_latency_count{host="myhost"} 0
jaeger_collector_spans_bytes{host="myhost"} 0
jaeger_collector_spans_dropped_total{host="myhost"} 0
jaeger_collector_spans_received_total{debug="false",format="jaeger",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="false",format="jaeger",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="false",format="jaeger",svc="other-
services" transport="unknown"} 0



jaeger_collector_spans_received_total{debug="false",format="proto",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="false",format="proto",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="false",format="proto",svc="other-
services" transport="unknown"} 0
jaeger_collector_spans_received_total{debug="false",format="unknown",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="false",format="unknown",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="false",format="unknown",svc="other-
services" transport="unknown"} 0
jaeger_collector_spans_received_total{debug="false",format="zipkin",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="false",format="zipkin",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="false",format="zipkin",svc="other-
services" transport="unknown"} 0
jaeger_collector_spans_received_total{debug="true",format="jaeger",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="true",format="jaeger",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="true",format="jaeger",svc="other-
services" transport="unknown"} 0
jaeger_collector_spans_received_total{debug="true",format="proto",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="true",format="proto",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="true",format="proto",svc="other-
services" transport="unknown"} 0
jaeger_collector_spans_received_total{debug="true",format="unknown",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="true",format="unknown",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="true",format="unknown",svc="other-
services"transport="unknown"} 0
jaeger_collector_spans_received_total{debug="true",format="zipkin",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_received_total{debug="true",format="zipkin",svc="other-
services" transport="http"} 0
jaeger_collector_spans_received_total{debug="true",format="zipkin",svc="other-
services" transport="unknown"} 0
jaeger_collector_spans_rejected_total{debug="false",format="jaeger",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="false",format="jaeger",svc="other-
services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="false",format="jaeger",svc="other-
services" transport="unknown"} 0
jaeger_collector_spans_rejected_total{debug="false",format="proto",svc="other-
services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="false",format="proto",svc="other-
services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="false",format="proto",svc="other-
services" transport="unknown"} 0



jaeger_collector_spans_rejected_total{debug="false",format="unknown",svc="other-

services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="false",format="unknown",svc="other-

services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="false",format="unknown",svc="other-

services" transport="unknown"} 0
jaeger_collector_spans_rejected_total{debug="false",format="zipkin",svc="other-

services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="false",format="zipkin",svc="other-

services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="false",format="zipkin",svc="other-

services" transport="unknown"} 0
jaeger_collector_spans_rejected_total{debug="true",format="jaeger",svc="other-

services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="true",format="jaeger",svc="other-

services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="true",format="jaeger",svc="other-

services" transport="unknown"} 0
jaeger_collector_spans_rejected_total{debug="true",format="proto",svc="other-

services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="true",format="proto",svc="other-

services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="true",format="proto",svc="other-

services" transport="unknown"} 0
jaeger_collector_spans_rejected_total{debug="true",format="unknown",svc="other-

services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="true",format="unknown",svc="other-

services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="true",format="unknown",svc="other-

services" transport="unknown"} 0
jaeger_collector_spans_rejected_total{debug="true",format="zipkin",svc="other-

services" transport="grpc"} 0
jaeger_collector_spans_rejected_total{debug="true",format="zipkin",svc="other-

services" transport="http"} 0
jaeger_collector_spans_rejected_total{debug="true",format="zipkin",svc="other-
services"transport="unknown"} 0

jaeger_collector_spans_saved_by_svc_total{debug="false" result="err",svc="other-services"} 0
jaeger_collector_spans_saved_by_svc_total{debug="false" result="ok",svc="other-services"} 0
jaeger_collector_spans_saved_by_svc_total{debug="true" result="err",svc="other-services"} 0
jaeger_collector_spans_saved_by_svc_total{debug="true" result="ok",svc="other-services"} 0
jaeger_collector_spans_serviceNames{host="myhost"} 0
jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="const",svc="
other-services" transport="grpc"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="const",svc="
other-services" transport="http"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="const",svc="
other-services" transport="unknown"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="lowerbound"
,svc="other-services" transport="grpc"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="lowerbound"
,svc="other-services" transport="http"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="lowerbound"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="probabilistic



",svc="other-services" transport="grpc"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="probabilistic
" .svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="jaeger",sampler_type="probabilistic
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="jaeger"',sampler_type="ratelimiting"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="jaeger",sampler_type="ratelimiting"
,svc="other-services" transport="http"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="ratelimiting"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="unrecognize
d",svc="other-services" transport="grpc"} 0

jaeger_collector_traces_received_total{debug="false" format="jaeger",sampler_type="unrecognize
d",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="jaeger",sampler_type="unrecognize
d",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="const",svc="0
ther-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="const",svc="0
ther-services" transport="http"} 0

jaeger_collector_traces_received_total{debug="false" format="proto",sampler_type="const",svc="0
ther-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="lowerbound",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="lowerbound",
svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="lowerbound",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="probabilistic"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="probabilistic"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="probabilistic"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="ratelimiting",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="ratelimiting",
svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="ratelimiting",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="unrecognized
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="unrecognized
" .svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="proto",sampler_type="unrecognized
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="const",sv
c="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="const",sv
c="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="const",sv
c="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="lowerbou



nd",svc="other-services"transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="lowerbou
nd",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="lowerbou
nd",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false" format="unknown",sampler_type="probabilist
ic",svc="other-services" transport="grpc"} 0

jaeger_collector_traces_received_total{debug="false" format="unknown",sampler_type="probabilist
ic",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="probabilist
ic",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="ratelimitin
g",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="ratelimitin
g",svc="other-services" transport="http"} 0

jaeger_collector_traces_received_total{debug="false" format="unknown",sampler_type="ratelimitin
g",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false" format="unknown",sampler_type="unrecogni
zed",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="unrecogni
zed",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="unknown",sampler_type="unrecogni
zed",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="const",svc="
other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="const",svc="
other-services" transport="http"} 0

jaeger_collector_traces_received_total{debug="false" format="zipkin",sampler_type="const",svc="
other-services" transport="unknown"} 0

jaeger_collector_traces_received_total{debug="false", format="zipkin",sampler_type="lowerbound"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="lowerbound"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="lowerbound"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="probabilistic
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="probabilistic
",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="probabilistic
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="ratelimiting"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="ratelimiting"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="ratelimiting"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="grpc"} 0

jaeger_collector_traces_received_total{debug="false" format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="false",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="const",svc="0



ther-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="const",svc="0
ther-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="const",svc="0
ther-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="lowerbound",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="lowerbound",
svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="lowerbound",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="probabilistic"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="probabilistic"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="probabilistic"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="ratelimiting",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="ratelimiting",
svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="ratelimiting",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="unrecognized
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="unrecognized
",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="jaeger",sampler_type="unrecognized
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="const",svc="ot
her-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="const",svc="ot
her-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="const",svc="ot
her-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="lowerbound",s
vc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="lowerbound",s
vc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="lowerbound",s
vc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="probabilistic",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="probabilistic",
svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="probabilistic",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="ratelimiting",s
vc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="ratelimiting",s
vc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="ratelimiting",s
vc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="unrecognized"



,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="unrecognized"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="proto",sampler_type="unrecognized"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="const",svc
="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="const",svc
="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="const",svc
="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="lowerboun
d",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="lowerboun
d",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="lowerboun
d",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="probabilisti
c",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="probabilisti
c",svc="other-services"transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="probabilisti
c",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="ratelimiting
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="ratelimiting
",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="ratelimiting
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="unrecogniz
ed",svc="other-services"transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="unrecogniz
ed",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="unknown",sampler_type="unrecogniz
ed",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="const",svc="0
ther-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="const",svc="0
ther-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="const",svc="0
ther-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="lowerbound",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="lowerbound",
svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="lowerbound",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="probabilistic"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="probabilistic"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="probabilistic"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="ratelimiting",



svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="ratelimiting",
svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="ratelimiting",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="http"} 0
jaeger_collector_traces_received_total{debug="true",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="const",svc="
other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="const",svc="
other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="const",svc="
other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="lowerbound"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="lowerbound"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="lowerbound"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="probabilistic
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="probabilistic
",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="probabilistic
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="ratelimiting"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="ratelimiting"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="ratelimiting"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="unrecognize
d",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="unrecognize
d",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="jaeger",sampler_type="unrecognize
d",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="const",svc="0
ther-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="const",svc="0
ther-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="const",svc="0
ther-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="lowerbound",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="lowerbound",
svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="lowerbound",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="probabilistic"



,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="probabilistic"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="probabilistic"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="ratelimiting",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="ratelimiting",
svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="ratelimiting",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="unrecognized
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="unrecognized
",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="proto",sampler_type="unrecognized
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="const",svc
="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="const",svc
="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="const",svc
="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="lowerboun
d",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="lowerboun
d",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="lowerboun
d",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="probabilist
ic",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="probabilist
ic",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="probabilist
ic",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="ratelimitin
g",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="ratelimitin
g",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="ratelimitin
g",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="unrecogni
zed",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="unrecogni
zed",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="unknown",sampler_type="unrecogni
zed",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="const",svc="0
ther-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="const",svc="0
ther-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="const",svc="0
ther-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="lowerbound",



svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="lowerbound",
svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="lowerbound",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="probabilistic"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="probabilistic"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="probabilistic"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="ratelimiting",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="ratelimiting",
svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="ratelimiting",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="false",format="zipkin",sampler_type="unrecognized
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="const",svc="0
ther-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="const",svc="0
ther-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="const",svc="0
ther-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="lowerbound",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="lowerbound",
svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="lowerbound",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="probabilistic"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="probabilistic"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="probabilistic"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="ratelimiting",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="ratelimiting",
svc="other-services" transport="http"} 0

jaeger_collector_traces_rejected_total{debug="true" format="jaeger",sampler_type="ratelimiting",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="unrecognized
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="unrecognized
",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="jaeger",sampler_type="unrecognized
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="const",svc="ot



her-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="const",svc="ot
her-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="const",svc="ot
her-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="lowerbound",s
vc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="lowerbound",s
vc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="lowerbound",s
vc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="probabilistic",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="probabilistic",
svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="probabilistic",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="ratelimiting",s
vc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="ratelimiting",s
vc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="ratelimiting",s
vc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="unrecognized"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="unrecognized"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="proto",sampler_type="unrecognized"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="const",svc=
"other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="const",svc=
"other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="const",svc=
"other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="lowerbound
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="lowerbound
",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="lowerbound
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="probabilisti
c",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="probabilisti
c",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="probabilisti
c",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="ratelimiting
",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="ratelimiting
",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="ratelimiting
",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="unrecogniz



ed",svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="unrecogniz
ed",svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="unknown",sampler_type="unrecogniz
ed",svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="const",svc="ot
her-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="const",svc="ot
her-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="const",svc="ot
her-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="lowerbound",s
vc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="lowerbound",s
vc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="lowerbound",s
vc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="probabilistic",
svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="probabilistic",
svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="probabilistic",
svc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="ratelimiting",s
vc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="ratelimiting",s
vc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="ratelimiting",s
vc="other-services" transport="unknown"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="unrecognized"
,svc="other-services" transport="grpc"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="unrecognized"
,svc="other-services" transport="http"} 0
jaeger_collector_traces_rejected_total{debug="true",format="zipkin",sampler_type="unrecognized"
,svc="other-services" transport="unknown"} 0
jaeger_collector_traces_saved_by_svc_total{debug="false" result="err",sampler_type="const",svc=
"other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="err",sampler_type="lowerbound
" svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="err",sampler_type="probabilisti
c",svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="err",sampler_type="ratelimiting
" svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="err",sampler_type="unrecogniz
ed",svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="const",svc="
other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="lowerbound"
,svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="probabilistic
" svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="ratelimiting"
,svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="unrecognize



d",svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="err",sampler_type="const",svc="
other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="err",sampler_type="lowerbound"
,svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="err",sampler_type="probabilistic
" svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="err",sampler_type="ratelimiting"
,svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="err",sampler_type="unrecognize
d",svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="const",svc="0
ther-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="lowerbound",
svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="probabilistic"
,svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="ratelimiting",
svc="other-services"} 0

jaeger_collector_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="unrecognized
" svc="other-services"} 0

jaeger_query_latency_bucket{operation="find_trace_ids" result="err",le="2.0.005"} 0
jaeger_query_latency_bucket{operation="get_error_ratefind_trace_ids" result="err"|le="0.01"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="err",|e="0.025"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="err",le="0.05"} 0
jaeger_query_latency_bucket{operation="get_error_ratefind_trace_ids" result="err"le="0.1"} 0
jaeger_query_latency_bucket{operation="find_trace_ids"result="err",|e="0.25"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="err"le="0.5"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="err",le="10"} 0
jaeger_query_latency_bucket{operation="get_error_ratefind_trace_ids" result="err"le="2.5"} 0
jaeger_query_latency_bucket{operation="find_trace_ids"result="err",le="5"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="err"le="10"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="err" le="+Inf"} 0
jaeger_query_latency_sumf{operation="get_error_ratefind_trace_ids" result="err"} 0
jaeger_query_latency_count{operation="find_trace_ids" result="err"} 0
jaeger_query_latency_count{operation="get_error_rates" result="errbucket{operation="find_trace_id
s"result="ok",|e="0.005"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="ok"le="0.01"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="ok"le="0.025"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="ok",le="0.05"} 0
jaeger_query_latency_bucket{operation="get_error_ratefind_trace_ids" result="ok"le="0.1"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="ok",le="0.25"} 0
jaeger_query_latency_bucket{operation="find_trace_ids",result="ok",|e="0.005"} 0
jaeger_query_latency_bucket{operation="get_error_rates" result="ok",le="0.01find_trace_ids" result
="ok"le="1"} 0

jaeger_query_latency_bucket{operation="find_trace_ids" result="ok"le="2.5"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="ok"le="5"} 0
jaeger_query_latency_bucket{operation="find_trace_ids" result="ok",|le="10"} 0
jaeger_query_latency_bucket{operation="get_error_rates" result="okfind_trace_ids" result="ok" le="
+Inf"} 0

jaeger_query_latency_sumf{operation="find_trace_ids" result="ok"} 0
jaeger_query_latency_count{operation="find_trace_ids" result="0k"} 0
jaeger_query_latency_bucket{operation="find_traces" result="err"le="0.0205"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces" result="err"le="0.01"} 0



jaeger_query_latency_bucket{operation="find_tratces" result="okerr",le="0.025"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces" result="err"le="0.05"} 0
jaeger_query_latency_bucket{operation="find_tratces" result="okerr"le="0.1"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces" result="err"|e="0.25"} 0
jaeger_query_latency_bucket{operation="find_tratces" result="okerr"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces" result="err"le="1"} 0
jaeger_query_latency_bucket{operation="find_tratces" result="okerr"le="02.5"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces" result="err"le="5"} 0
jaeger_query_latency_bucket{operation="find_tratces" result="okerr",|le="10"} 0
jaeger_query_latency_bucket{operation="get_error_ratfind_traces" result="err" le="+Inf"} 0
jaeger_query_latency_sum{operation="find_traces" result="err"} 0
jaeger_query_latency_count{operation="find_traces"result="err"} 0
jaeger_query_latency_bucket{operation="find_traces"result="ok",|e="2.0.005"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces" result="ok"|le="0.01"} 0
jaeger_query_latency_bucket{operation="find_tratces" result="ok"le="0.025"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces"result="ok",le="0.05"} 0
jaeger_query_latency_bucket{operation="find_tratces" result="ok"le="10.1"} 0
jaeger_query_latency_bucket{operation="get_error_find_traces" result="ok"|le="0.25"} 0
jaeger_query_latency_bucket{operation="find_tratces" result="ok"le="+Inf0.5"} 0
jaeger_query_latency_sumbucket{operation="get_error_ratfind_traces" result="ok"le="1"} 0
jaeger_query_latency_bucket{operation="find_traces"result="ok",|e="2.5"} 0
jaeger_query_latency_bucket{operation="find_traces" result="ok"le="5"} 0
jaeger_query_latency_count{operation="get_error_ratbucket{operation="find_traces" result="ok"le
="10"} 0

jaeger_query_latency_bucket{operation="find_traces" result="ok" le="+Inf"} 0
jaeger_query_latency_sumf{operation="find_traces" result="ok"} 0
jaeger_query_latency_count{operation="find_traces"result="ok"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates"result="err",le="0.005"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err",le="0.01"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates"result="err"le="0.025"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates"result="err",le="0.05"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err"le="0.1"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates"result="err"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err"le="0.5"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err"le="1"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err"le="2.5"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err"le="5"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err",le="10"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="err" le="+Inf"} 0
jaeger_query_latency_sum{operation="get_latencicall_rates" result="err"} 0
jaeger_query_latency_count{operation="get_latencicall_rates" result="err"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok",le="0.005"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok"le="0.01"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok",le="0.025"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok"le="0.05"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok"le="0.1"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok"le="0.5"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok",le="1"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok"le="2.5"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok" le="5"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok"le="10"} 0
jaeger_query_latency_bucket{operation="get_latencicall_rates" result="ok" le="+Inf"} 0
jaeger_query_latency_sumf{operation="get_latencicall_rates" result="ok"} 0



jaeger_query_latency_count{operation="get_latencicall_rates" result="ok"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates"result="err"le="0.005"
}0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err",le="0.01"}
0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates"result="err",le="0.025"
}0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err",le="0.05"}
0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates"result="err"le="0.1"}
0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err",le="0.25"}
0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates"result="err"le="0.5"}
0

jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err",le="1"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err"le="2.5"}
0

jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err"le="5"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err"le="10"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="err" le="+Inf"}
0

jaeger_query_latency_sum{operation="get_min_step_durationerror_rates" result="err"} 0
jaeger_query_latency_count{operation="get_min_step_durationerror_rates" result="err"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",le="0.005"
}0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates"result="ok",le="0.01"}
0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates"result="ok",|e="0.025"
}0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",le="0.05"}
0

jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",le="0.1"}
0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",le="0.25"}
0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",|e="0.5"}
0

jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",le="1"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok"le="2.5"}
0

jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",|e="5"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok",le="10"} 0
jaeger_query_latency_bucket{operation="get_min_step_durationerror_rates" result="ok"le="+Inf"}
0

jaeger_query_latency_sumf{operation="get_min_step_durationerror_rates"result="ok"} 0
jaeger_query_latency_count{operation="get_min_step_durationerror_rates"result="ok"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="0.005"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="0.01"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="0.025"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="0.05"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="0.1"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="0.25"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="0.5"} 0



jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="1"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="2.5"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err"le="5"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err",le="10"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="err" le="+Inf"} 0
jaeger_query_latency_sum{operation="find_trace_idget_latencies" result="err"} 0
jaeger_query_latency_count{operation="find_trace_idget_latencies" result="err"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok"le="0.005"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok"le="0.01"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok",le="0.025"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok",le="0.05"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok"le="0.1"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok"le="0.25"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok",le="0.5"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok"le="1"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok"le="2.5"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok",le="5"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok",le="10"} 0
jaeger_query_latency_bucket{operation="find_trace_idget_latencies" result="ok" le="+Inf"} 0
jaeger_query_latency_sumf{operation="find_trace_idget_latencies" result="ok"} 0
jaeger_query_latency_count{operation="find_trace_idget_latencies" result="ok"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err",le="0.005
Il} O
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err",le="0.01"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration",result="err",le="0.025
II} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration" result="err",le="0.05"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err"le="0.1"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration" result="err",le="0.25"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err"le="0.5"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err",le="1"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err" le="2.5"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration" result="err"le="5"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err",le="10"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="err" le="+Inf"}
0
jaeger_query_latency_sum{operation="find_tracesget_min_step_duration" result="err"} 0
jaeger_query_latency_count{operation="find_tracesget_min_step_duration",result="err"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok",le="0.005"
}0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration",result="ok",le="0.01"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration" result="ok",le="0.025"
}0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration" result="ok",|e="0.05"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok",le="0.1"}
0



jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok",le="0.25"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok",|e="0.5"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok",le="1"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok"|le="2.5"}
0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok",|le="5"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration" result="ok"le="10"} 0
jaeger_query_latency_bucket{operation="find_tracesget_min_step_duration"result="ok" |e="+Inf"}
0

jaeger_query_latency_sumf{operation="find_tracesget_min_step_duration"result="ok"} 0
jaeger_query_latency_count{operation="find_tracesget_min_step_duration",result="ok"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err"le="0.005"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err",le="0.01"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err",|e="0.025"} 0
jaeger_query_latency_bucket{operation="get_operations",result="err",le="0.05"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err"le="0.1"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err"le="0.5"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err"|le="1"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err"le="2.5"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err"|le="5"} 0
jaeger_query_latency_bucket{operation="get_operations",result="err",le="10"} 0
jaeger_query_latency_bucket{operation="get_operations" result="err" le="+Inf"} 0
jaeger_query_latency_sum{operation="get_operations"result="err"} 0
jaeger_query_latency_count{operation="get_operations" result="err"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok",le="0.005"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok"le="0.01"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok"le="0.025"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok"le="0.05"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok",le="0.1"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok",le="0.5"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok",le="1"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok"le="2.5"} 0
jaeger_query_latency_bucket{operation="get_operations",result="ok",|e="5"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok"le="10"} 0
jaeger_query_latency_bucket{operation="get_operations" result="ok" le="+Inf"} 0
jaeger_query_latency_sum{operation="get_operations",result="ok"} 0
jaeger_query_latency_count{operation="get_operations" result="ok"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="0.005"} 0
jaeger_query_latency_bucket{operation="get_services" result="err",le="0.01"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="0.025"} 0
jaeger_query_latency_bucket{operation="get_services" result="err",le="0.05"} 0
jaeger_query_latency_bucket{operation="get_services" result="err",le="0.1"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="0.5"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="1"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="2.5"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="5"} 0
jaeger_query_latency_bucket{operation="get_services" result="err"le="10"} 0
jaeger_query_latency_bucket{operation="get_services" result="err" le="+Inf"} 0
jaeger_query_latency_sum{operation="get_services" result="err"} 0



jaeger_query_latency_count{operation="get_services" result="err"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"le="0.005"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"le="0.01"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok",|e="0.025"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"le="0.05"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok",le="0.1"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok",le="0.5"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"|le="1"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"|le="2.5"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"|le="5"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok"le="10"} 0
jaeger_query_latency_bucket{operation="get_services" result="ok" le="+Inf"} 0
jaeger_query_latency_sumf{operation="get_services" result="ok"} 0
jaeger_query_latency_count{operation="get_services" result="ok"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err",le="0.005"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"e="0.01"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"e="0.025"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"le="0.05"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"le="0.1"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"le="0.25"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"le="0.5"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"le="1"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"le="2.5"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"|le="5"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err"le="10"} 0
jaeger_query_latency_bucket{operation="get_trace" result="err" le="+Inf"} 0
jaeger_query_latency_sum{operation="get_trace" result="err"} 0
jaeger_query_latency_count{operation="get_trace" result="err"} 0
jaeger_query_latency_bucket{operation="get_trace"result="ok"le="0.005"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"le="0.01"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok",|e="0.025"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"le="0.05"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"le="0.1"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"|le="0.25"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok",le="0.5"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"le="1"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"|e="2.5"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"le="5"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok"le="10"} 0
jaeger_query_latency_bucket{operation="get_trace" result="ok" le="+Inf"} 0
jaeger_query_latency_sumf{operation="get_trace" result="ok"} 0
jaeger_query_latency_count{operation="get_trace"result="ok"} 0
jaeger_query_requests_total{operation="find_trace_ids" result="err"} 0
jaeger_query_requests_total{operation="find_trace_ids" result="ok"} 0
jaeger_query_requests_total{operation="find_traces" result="err"} 0
jaeger_query_requests_total{operation="find_traces" result="ok"} 0
jaeger_query_requests_total{operation="get_call_rates" result="err"} 0
jaeger_query_requests_total{operation="get_call_rates" result="ok"} 0
jaeger_query_requests_total{operation="get_error_rates" result="err"} 0
jaeger_query_requests_total{operation="get_error_rates",result="ok"} 0
jaeger_query_requests_total{operation="get_latencies" result="err"} 0
jaeger_query_requests_total{operation="get_latencies" result="ok"} 0
jaeger_query_requests_total{operation="get_min_step_duration"result="err"} 0



jaeger_query_requests_total{operation="get_min_step_duration",result="ok"} 0
jaeger_query_requests_total{operation="get_operations",result="err"} 0
jaeger_query_requests_total{operation="get_operations" result="ok"} 0
jaeger_query_requests_total{operation="get_services" result="err"} 0
jaeger_query_requests_total{operation="get_services" result="ok"} 0
jaeger_query_requests_total{operation="get_trace" result="err"} 0
jaeger_query_requests_total{operation="get_trace" result="ok"} 0
jaeger_query_responses_bucket{operation="find_trace_ids",|e="0.005"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="0.01"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="0.025"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="0.05"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="0.1"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="0.25"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="0.5"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="1"} 0
jaeger_query_responses_bucket{operation="find_trace_ids",|e="2.5"} 0
jaeger_query_responses_bucket{operation="find_trace_ids"le="5"} 0
jaeger_query_responses_bucket{operation="find_trace_ids",le="10"} 0
jaeger_query_responses_bucket{operation="find_trace_ids" le="+Inf"} 0
jaeger_query_responses_sum{operation="find_trace_ids"} 0
jaeger_query_responses_count{operation="find_trace_ids"} 0
jaeger_query_responses_bucket{operation="find_traces",le="0.005"} 0
jaeger_query_responses_bucket{operation="find_traces",le="0.01"} 0
jaeger_query_responses_bucket{operation="find_traces",le="0.025"} 0
jaeger_query_responses_bucket{operation="find_traces",le="0.05"} 0
jaeger_query_responses_bucket{operation="find_traces",le="0.1"} 0
jaeger_query_responses_bucket{operation="find_traces",le="0.25"} 0
jaeger_query_responses_bucket{operation="find_traces",le="0.5"} 0
jaeger_query_responses_bucket{operation="find_traces"le="1"} 0
jaeger_query_responses_bucket{operation="find_traces",|e="2.5"} 0
jaeger_query_responses_bucket{operation="find_traces"le="5"} 0
jaeger_query_responses_bucket{operation="find_traces"le="10"} 0
jaeger_query_responses_bucket{operation="find_traces",le="+Inf"} 0
jaeger_query_responses_sum{operation="find_traces"} 0
jaeger_query_responses_count{operation="find_traces"} 0
jaeger_query_responses_bucket{operation="get_operations",le="0.005"} 0
jaeger_query_responses_bucket{operation="get_operations",le="0.01"} 0
jaeger_query_responses_bucket{operation="get_operations",le="0.025"} 0
jaeger_query_responses_bucket{operation="get_operations",le="0.05"} 0
jaeger_query_responses_bucket{operation="get_operations",le="0.1"} 0
jaeger_query_responses_bucket{operation="get_operations",le="0.25"} 0
jaeger_query_responses_bucket{operation="get_operations",le="0.5"} 0
jaeger_query_responses_bucket{operation="get_operations",le="1"} 0
jaeger_query_responses_bucket{operation="get_operations",le="2.5"} 0
jaeger_query_responses_bucket{operation="get_operations"le="5"} 0
jaeger_query_responses_bucket{operation="get_operations",le="10"} 0
jaeger_query_responses_bucket{operation="get_operations",le="+Inf"} 0
jaeger_query_responses_sum{operation="get_operations"} 0
jaeger_query_responses_count{operation="get_operations"} 0
jaeger_query_responses_bucket{operation="get_services",le="0.005"} 0
jaeger_query_responses_bucket{operation="get_services"le="0.01"} 0
jaeger_query_responses_bucket{operation="get_services",le="0.025"} 0
jaeger_query_responses_bucket{operation="get_services"le="0.05"} 0
jaeger_query_responses_bucket{operation="get_services"le="0.1"} 0



jaeger_query_responses_bucket{operation="get_services"le="0.25"} 0
jaeger_query_responses_bucket{operation="get_services"le="0.5"} 0
jaeger_query_responses_bucket{operation="get_services"le="1"} 0
jaeger_query_responses_bucket{operation="get_services"le="2.5"} 0
jaeger_query_responses_bucket{operation="get_services",le="5"} 0
jaeger_query_responses_bucket{operation="get_services"le="10"} 0
jaeger_query_responses_bucket{operation="get_services" le="+Inf"} 0
jaeger_query_responses_sum{operation="get_services"} 0
jaeger_query_responses_count{operation="get_services"} 0
jaeger_query_responses_bucket{operation="get_trace",le="0.005"} 0
jaeger_query_responses_bucket{operation="get_trace",le="0.01"} 0
jaeger_query_responses_bucket{operation="get_trace",le="0.025"} 0
jaeger_query_responses_bucket{operation="get_trace",le="0.05"} 0
jaeger_query_responses_bucket{operation="get_trace",le="0.1"} 0
jaeger_query_responses_bucket{operation="get_trace",le="0.25"} 0
jaeger_query_responses_bucket{operation="get_trace"le="0.5"} 0
jaeger_query_responses_bucket{operation="get_trace",le="1"} 0
jaeger_query_responses_bucket{operation="get_trace"le="2.5"} 0
jaeger_query_responses_bucket{operation="get_trace",le="5"} 0
jaeger_query_responses_bucket{operation="get_trace"le="10"} 0
jaeger_query_responses_bucket{operation="get_trace" le="+Inf"} 0
jaeger_query_responses_sum{operation="get_trace"} 0
jaeger_query_responses_count{operation="get_trace"} 0
jaeger_queue_capacity{host="myhost"} 2000
jaeger_queue_length{host="myhost"} 0
jaeger_requests_total{operation="get_call_rates" result="err"} 0
jaeger_requests_total{operation="get_call_rates" result="ok"} 0
jaeger_requests_total{operation="get_error_rates" result="err"} 0
jaeger_requests_total{operation="get_error_rates" result="ok"} 0
jaeger_requests_total{operation="get_latencies"result="err"} 0
jaeger_requests_total{operation="get_latencies" result="0k"} 0
jaeger_requests_total{operation="get_min_step_duration"result="err"} 0
jaeger_requests_total{operation="get_min_step_duration" result="ok"} 0
jaeger_save_latency_bucket{host="myhost",|e="0.005"} 0
jaeger_save_latency_bucket{host="myhost"le="0.01"} 0
jaeger_save_latency_bucket{host="myhost"|e="0.025"} 0
jaeger_save_latency_bucket{host="myhost"le="0.05"} 0
jaeger_save_latency_bucket{host="myhost"le="0.1"} 0
jaeger_save_latency_bucket{host="myhost"|le="0.25"} 0
jaeger_save_latency_bucket{host="myhost"le="0.5"} 0
jaeger_save_latency_bucket{host="myhost"le="1"} 0
jaeger_save_latency_bucket{host="myhost"le="2.5"} 0
jaeger_save_latency_bucket{host="myhost"le="5"} 0
jaeger_save_latency_bucket{host="myhost"le="10"} 0
jaeger_save_latency_bucket{host="myhost" le="+Inf"} 0
jaeger_save_latency_sum{host="myhost"} 0
jaeger_save_latency_count{host="myhost"} 0
jaeger_spans_bytes{host="myhost"} 0
jaeger_spans_dropped_total{host="myhost"} 0
jaeger_spans_received_total{debug="false",format="jaeger",svc="other-
services" transport="grpc"} 0
jaeger_spans_received_total{debug="false",format="jaeger",svc="other-services" transport="http"}
0
jaeger_spans_received_total{debug="false",format="jaeger",svc="other-



services" transport="unknown"} 0

jaeger_spans_received_total{debug="false" format="proto",svc="other-services" transport="grpc"}
0
jaeger_spans_received_total{debug="false",format="proto",svc="other-services" transport="http"}
0

jaeger_spans_received_total{debug="false",format="proto",svc="other-

services" transport="unknown"} 0
jaeger_spans_received_total{debug="false",format="unknown",svc="other-

services" transport="grpc"} 0
jaeger_spans_received_total{debug="false",format="unknown",svc="other-

services" transport="http"} 0
jaeger_spans_received_total{debug="false",format="unknown",svc="other-

services" transport="unknown"} 0

jaeger_spans_received_total{debug="false" format="zipkin",svc="other-services" transport="grpc"}
0
jaeger_spans_received_total{debug="false",format="zipkin",svc="other-services" transport="http"}
0

jaeger_spans_received_total{debug="false",format="zipkin",svc="other-

services" transport="unknown"} 0
jaeger_spans_received_total{debug="true",format="jaeger",svc="other-services" transport="grpc"}
0
jaeger_spans_received_total{debug="true",format="jaeger",svc="other-services" transport="http"}
0

jaeger_spans_received_total{debug="true",format="jaeger",svc="other-

services" transport="unknown"} 0
jaeger_spans_received_total{debug="true",format="proto",svc="other-services" transport="grpc"}
0
jaeger_spans_received_total{debug="true",format="proto",svc="other-services" transport="http"} 0
jaeger_spans_received_total{debug="true",format="proto",svc="other-

services" transport="unknown"} 0
jaeger_spans_received_total{debug="true",format="unknown",svc="other-

services" transport="grpc"} 0
jaeger_spans_received_total{debug="true",format="unknown",svc="other-

services" transport="http"} 0
jaeger_spans_received_total{debug="true",format="unknown",svc="other-
services"transport="unknown"} 0
jaeger_spans_received_total{debug="true",format="zipkin",svc="other-services" transport="grpc"}
0
jaeger_spans_received_total{debug="true",format="zipkin",svc="other-services" transport="http"}
0

jaeger_spans_received_total{debug="true",format="zipkin",svc="other-

services" transport="unknown"} 0
jaeger_spans_rejected_total{debug="false",format="jaeger",svc="other-services" transport="grpc"}
0
jaeger_spans_rejected_total{debug="false",format="jaeger",svc="other-services" transport="http"}
0

jaeger_spans_rejected_total{debug="false",format="jaeger",svc="other-

services" transport="unknown"} 0
jaeger_spans_rejected_total{debug="false",format="proto",svc="other-services" transport="grpc"}
0
jaeger_spans_rejected_total{debug="false",format="proto",svc="other-services" transport="http"}
0

jaeger_spans_rejected_total{debug="false",format="proto",svc="other-

services" transport="unknown"} 0



jaeger_spans_rejected_total{debug="false",format="unknown",svc="other-

services" transport="grpc"} 0
jaeger_spans_rejected_total{debug="false",format="unknown",svc="other-

services" transport="http"} 0
jaeger_spans_rejected_total{debug="false",format="unknown",svc="other-

services" transport="unknown"} 0
jaeger_spans_rejected_total{debug="false",format="zipkin",svc="other-services" transport="grpc"}
0
jaeger_spans_rejected_total{debug="false",format="zipkin",svc="other-services" transport="http"}
0

jaeger_spans_rejected_total{debug="false",format="zipkin",svc="other-

services" transport="unknown"} 0
jaeger_spans_rejected_total{debug="true",format="jaeger",svc="other-services" transport="grpc"}
0
jaeger_spans_rejected_total{debug="true",format="jaeger",svc="other-services" transport="http"}
0

jaeger_spans_rejected_total{debug="true",format="jaeger",svc="other-

services" transport="unknown"} 0
jaeger_spans_rejected_total{debug="true",format="proto",svc="other-services" transport="grpc"} 0
jaeger_spans_rejected_total{debug="true",format="proto",svc="other-services" transport="http"} 0
jaeger_spans_rejected_total{debug="true",format="proto",svc="other-

services" transport="unknown"} 0
jaeger_spans_rejected_total{debug="true",format="unknown",svc="other-

services" transport="grpc"} 0
jaeger_spans_rejected_total{debug="true",format="unknown",svc="other-

services" transport="http"} 0
jaeger_spans_rejected_total{debug="true",format="unknown",svc="other-

services" transport="unknown"} 0
jaeger_spans_rejected_total{debug="true",format="zipkin",svc="other-services" transport="grpc"}
0
jaeger_spans_rejected_total{debug="true",format="zipkin",svc="other-services" transport="http"} 0
jaeger_spans_rejected_total{debug="true",format="zipkin",svc="other-

services" transport="unknown"} 0

jaeger_spans_saved_by_svc_total{debug="false" result="err",svc="other-services"} 0
jaeger_spans_saved_by_svc_total{debug="false" result="ok",svc="other-services"} 0
jaeger_spans_saved_by_svc_total{debug="true" result="err",svc="other-services"} 0
jaeger_spans_saved_by_svc_total{debug="true" result="ok",svc="other-services"} 0
jaeger_spans_serviceNames{host="myhost"} 0
jaeger_thrift_udp_server_packet_size{model="jaeger" protocol="binary"} 0
jaeger_thrift_udp_server_packet_size{model="jaeger" protocol="compact"'} 0
jaeger_thrift_udp_server_packet_size{model="zipkin",protocol="compact"} 0
jaeger_thrift_udp_server_packets_dropped_total{model="jaeger",protocol="binary"} 0
jaeger_thrift_udp_server_packets_dropped_total{model="jaeger",protocol="compact"} 0
jaeger_thrift_udp_server_packets_dropped_total{model="zipkin",protocol="compact"} 0
jaeger_thrift_udp_server_packets_processed_total{model="jaeger",protocol="binary"} 0
jaeger_thrift_udp_server_packets_processed_total{model="jaeger",protocol="compact"} 0
jaeger_thrift_udp_server_packets_processed_total{model="zipkin"protocol="compact"} 0
jaeger_thrift_udp_server_queue_size{model="jaeger",protocol="binary"} 0
jaeger_thrift_udp_server_queue_size{model="jaeger",protocol="compact"} 0
jaeger_thrift_udp_server_queue_size{model="zipkin",protocol="compact"} 0
jaeger_thrift_udp_server_read_errors_total{model="jaeger",protocol="binary"} 0
jaeger_thrift_udp_server_read_errors_total{model="jaeger",protocol="compact"} 0
jaeger_thrift_udp_server_read_errors_total{model="zipkin",protocol="compact"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="0.005"} 0



jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger"protocol="binary",le="0.01"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="0.025"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="0.05"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="0.1"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="0.25"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="0.5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="1"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="2.5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="binary",le="10"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="binary",le="+Inf"} 0
jaeger_thrift_udp_t_processor_close_time_sum{model="jaeger",protocol="binary"} 0
jaeger_thrift_udp_t_processor_close_time_count{model="jaeger",protocol="binary"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="0.005"}
0

jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="0.01"}
0

jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="0.025"}
0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="0.05"}
0

jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="0.1"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="0.25"}
0

jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="0.5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="1"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="2.5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger" protocol="compact",le="5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="10"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="jaeger",protocol="compact",le="+Inf"} 0
jaeger_thrift_udp_t_processor_close_time_sum{model="jaeger",protocol="compact"} 0
jaeger_thrift_udp_t_processor_close_time_count{model="jaeger",protocol="compact"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin"protocol="compact",le="0.005"}
0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0.01"}
0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0.025"}
0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0.05"}
0

jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0.1"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0.25"}
0

jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="0.5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin" protocol="compact",le="1"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="2.5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="5"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="10"} 0
jaeger_thrift_udp_t_processor_close_time_bucket{model="zipkin",protocol="compact",le="+Inf"} 0
jaeger_thrift_udp_t_processor_close_time_sum{model="zipkin",protocol="compact"} 0
jaeger_thrift_udp_t_processor_close_time_count{model="zipkin",protocol="compact"} 0
jaeger_thrift_udp_t_processor_handler_errors_total{model="jaeger",protocol="binary"} 0
jaeger_thrift_udp_t_processor_handler_errors_total{model="jaeger",protocol="compact"} 0
jaeger_thrift_udp_t_processor_handler_errors_total{model="zipkin",protocol="compact"} 0



jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="lowerbound",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="lowerbound",svc="oth
er-services"transport="http"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="lowerbound",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="probabilistic",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="probabilistic",svc="oth
er-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="probabilistic",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="ratelimiting",svc="othe
r-services" transport="grpc"'} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="ratelimiting",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="ratelimiting",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="unrecognized",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="unrecognized",svc="ot
her-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="jaeger",sampler_type="unrecognized",svc="ot
her-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="const",svc="other-
services"transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="lowerbound",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="lowerbound",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="lowerbound",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="probabilistic",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="probabilistic",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="probabilistic",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="ratelimiting",svc="other
-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="ratelimiting",svc="other
-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="ratelimiting",svc="other
-services" transport="unknown"} 0



jaeger_traces_received_total{debug="false",format="proto",sampler_type="unrecognized",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="unrecognized",svc="oth
er-services"transport="http"} 0
jaeger_traces_received_total{debug="false",format="proto",sampler_type="unrecognized",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="lowerbound",svc="0
ther-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="lowerbound",svc="0
ther-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="lowerbound",svc="0
ther-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="probabilistic",svc="
other-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="probabilistic",svc="
other-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="probabilistic",svc="
other-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="ratelimiting",svc="o
ther-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="ratelimiting",svc="o
ther-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="ratelimiting",svc="o
ther-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="unrecognized",svc=
"other-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="unrecognized",svc=
"other-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="unknown",sampler_type="unrecognized",svc=
"other-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="lowerbound",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="lowerbound",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="lowerbound",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="probabilistic",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="probabilistic",svc="oth
er-services' transport="http"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="probabilistic",svc="oth
er-services" transport="unknown"} 0



jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="ratelimiting",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="ratelimiting",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="ratelimiting",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="unrecognized",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="unrecognized",svc="ot
her-services" transport="http"} 0
jaeger_traces_received_total{debug="false",format="zipkin",sampler_type="unrecognized",svc="ot
her-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="lowerbound",svc="othe
r-services" transport="grpc"'} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="lowerbound",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="lowerbound",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="probabilistic",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="probabilistic",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="probabilistic",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="ratelimiting",svc="other
-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="ratelimiting",svc="other
-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="ratelimiting",svc="other
-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="unrecognized",svc="oth
er-services"transport="grpc"} 0

jaeger_traces_received_total{debug="true" format="jaeger",sampler_type="unrecognized",svc="oth
er-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="jaeger",sampler_type="unrecognized",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="lowerbound",svc="other
-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="lowerbound",svc="other
-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="lowerbound",svc="other
-services" transport="unknown"} 0



jaeger_traces_received_total{debug="true",format="proto",sampler_type="probabilistic",svc="other
-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="probabilistic",svc="other
-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="probabilistic",svc="other
-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="ratelimiting",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="ratelimiting",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="ratelimiting",svc="other-
services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="unrecognized",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="unrecognized",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="proto",sampler_type="unrecognized",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="lowerbound",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="lowerbound",svc="ot
her-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="lowerbound",svc="ot
her-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="probabilistic",svc="0
ther-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="probabilistic",svc="0
ther-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="probabilistic",svc="0
ther-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="ratelimiting",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="ratelimiting",svc="ot
her-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="ratelimiting",svc="ot
her-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="unrecognized",svc="
other-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="unrecognized",svc="
other-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="unknown",sampler_type="unrecognized",svc="
other-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="const",svc="other-
services" transport="unknown"} 0



jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="lowerbound",svc="other
-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="lowerbound",svc="other
-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="lowerbound",svc="other
-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="probabilistic",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="probabilistic",svc="othe
r-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="probabilistic",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="ratelimiting",svc="other
-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="ratelimiting",svc="other
-services" transport="http"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="ratelimiting",svc="other
-services" transport="unknown"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="unrecognized",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="unrecognized",svc="oth
er-services"transport="http"} 0
jaeger_traces_received_total{debug="true",format="zipkin",sampler_type="unrecognized",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="const",svc="other-
services" transport="http"} 0

jaeger_traces_rejected_total{debug="false" format="jaeger",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="lowerbound",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="lowerbound",svc="othe
r-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="lowerbound",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="probabilistic",svc="oth
er-services"transport="grpc"} 0

jaeger_traces_rejected_total{debug="false" format="jaeger",sampler_type="probabilistic",svc="oth
er-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="probabilistic",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="ratelimiting",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="ratelimiting",svc="othe
r-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="ratelimiting",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="unrecognized",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="unrecognized",svc="ot
her-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="jaeger",sampler_type="unrecognized",svc="ot
her-services" transport="unknown"} 0



jaeger_traces_rejected_total{debug="false",format="proto',sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="proto’,sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="const",svc="other-
services" transport="unknown"} 0

jaeger_traces_rejected_total{debug="false" format="proto",sampler_type="lowerbound",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="lowerbound",svc="other
-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="lowerbound",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="probabilistic",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="probabilistic",svc="othe
r-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="probabilistic",svc="othe
r-services" transport="unknown"} 0

jaeger_traces_rejected_total{debug="false" format="proto",sampler_type="ratelimiting",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="ratelimiting",svc="other
-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="ratelimiting",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="unrecognized",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="proto",sampler_type="unrecognized",svc="oth
er-services" transport="http"} 0

jaeger_traces_rejected_total{debug="false" format="proto",sampler_type="unrecognized",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="const",svc="other-
services"transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="lowerbound",svc="0
ther-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="lowerbound",svc="0
ther-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="lowerbound",svc="0
ther-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="probabilistic",svc="
other-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="probabilistic",svc="
other-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="probabilistic",svc="
other-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="ratelimiting",svc="0
ther-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="ratelimiting",svc="0
ther-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="ratelimiting",svc="0
ther-services" transport="unknown"} 0



jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="unrecognized",svc=
"other-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="unrecognized",svc=
"other-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="unknown",sampler_type="unrecognized",svc=
"other-services" transport="unknown"} 0

jaeger_traces_rejected_total{debug="false" format="zipkin",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="lowerbound",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="lowerbound",svc="othe
r-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="lowerbound",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="probabilistic",svc="othe
r-services" transport="grpc"'} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="probabilistic",svc="othe
r-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="probabilistic",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="ratelimiting",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="ratelimiting",svc="other
-services" transport="http"} 0

jaeger_traces_rejected_total{debug="false" format="zipkin",sampler_type="ratelimiting",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="unrecognized",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="unrecognized",svc="ot
her-services" transport="http"} 0
jaeger_traces_rejected_total{debug="false",format="zipkin",sampler_type="unrecognized",svc="ot
her-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="lowerbound",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="lowerbound",svc="other
-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="lowerbound",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="probabilistic",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="probabilistic",svc="othe
r-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="probabilistic",svc="othe
r-services" transport="unknown"} 0



jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="ratelimiting",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="ratelimiting",svc="other
-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="ratelimiting",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="unrecognized",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="unrecognized",svc="oth
er-services"transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="jaeger",sampler_type="unrecognized",svc="oth
er-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="proto"',sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="lowerbound",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="lowerbound",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="lowerbound",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="probabilistic",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="probabilistic",svc="other
-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="probabilistic",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="ratelimiting",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="ratelimiting",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="ratelimiting",svc="other-
services"transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="unrecognized",svc="othe
r-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="unrecognized",svc="othe
r-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="proto",sampler_type="unrecognized",svc="othe
r-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="lowerbound",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="lowerbound",svc="ot
her-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="lowerbound",svc="ot
her-services" transport="unknown"} 0



jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="probabilistic",svc="o
ther-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="probabilistic",svc="o
ther-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="probabilistic",svc="0
ther-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="ratelimiting",svc="ot
her-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="ratelimiting",svc="ot
her-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="ratelimiting",svc="ot
her-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="unrecognized",svc="
other-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="unrecognized",svc="
other-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="unknown",sampler_type="unrecognized",svc="
other-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="const",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="const",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="const",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="lowerbound",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="lowerbound",svc="other
-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="lowerbound",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="probabilistic",svc="other
-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="probabilistic",svc="other
-services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="probabilistic",svc="other
-services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="ratelimiting",svc="other-
services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="ratelimiting",svc="other-
services" transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="ratelimiting",svc="other-
services" transport="unknown"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="unrecognized",svc="oth
er-services" transport="grpc"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="unrecognized",svc="oth
er-services"transport="http"} 0
jaeger_traces_rejected_total{debug="true",format="zipkin",sampler_type="unrecognized",svc="oth
er-services" transport="unknown"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="err",sampler_type="const",svc="other-
services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="err",sampler_type="lowerbound",svc="oth
er-services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="err",sampler_type="probabilistic",svc="ot
her-services"} 0



jaeger_traces_saved_by_svc_total{debug="false" result="err",sampler_type="ratelimiting",svc="oth
er-services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="err",sampler_type="unrecognized",svc="0
ther-services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="const",svc="other-
services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="lowerbound",svc="oth
er-services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="probabilistic",svc="oth
er-services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="ratelimiting",svc="oth
er-services"} 0

jaeger_traces_saved_by_svc_total{debug="false" result="ok",sampler_type="unrecognized",svc="0
ther-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="err",sampler_type="const",svc="other-
services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="err",sampler_type="lowerbound",svc="othe
r-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="err",sampler_type="probabilistic",svc="oth
er-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="err",sampler_type="ratelimiting",svc="othe
r-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="err",sampler_type="unrecognized",svc="ot
her-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="const",svc="other-
services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="lowerbound",svc="othe
r-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="probabilistic",svc="oth
er-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="ratelimiting",svc="othe
r-services"} 0

jaeger_traces_saved_by_svc_total{debug="true" result="ok",sampler_type="unrecognized",svc="ot
her-services"} 0

Removed: 184
Added: 298
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